Chapter 1

Managing IT in an e-World

Multiple Choice Questions

	
1.
	Information technology has been described as pervasive in today’s world. The term pervasive refers to the fact that :  

a.
IT and Internet connectivity leads to increased privacy issues.

b.
today's technology tools are increasingly more complex.

c.
today's technology tools are becoming easier to use. 

d.
IT has become commonplace in both the workplace and in many homes.

Answer: d
                  Reference: p. 1


	
2.
	The widespread use of Microsoft Corporation products is responsible for today's de facto software standards in each of the following areas, except:  

a.
PC operating systems.

b.
office applications.

c.
enterprise systems.

d.
Internet browsers.  

Answer:
 c

Reference: p. 3



	
3.
	All of the following led to an unprecedented level of IT investments in the 1990s to obtain a more global reach for employees and organizations, except:   

a.
wireless technology.

b.   Internet communication standards (TCP/IP).

c.
standard browser application software.

d.
high-bandwidth fiber-optic lines.

Answer:
 a

Reference: p. 3



	
4.
	By the year 2000, more than _______ of capital expenditures by U.S.-based businesses were for IT purchases.  

a.
one quarter

b.   one half

c.
three quarters

d.
90 percent

Answer:
 b

Reference: p. 4



	
5.
	Information technology has enabled businesses to compete in which of the following ways?
a.
By being a low-cost producer of a good or service

b.
By differentiating products or services

c.
By focusing on a specific market niche

d.
All of the above

Answer:
 d

Reference: p. 4



	
6.
	The use of IT by a business to provide tailored service to a specific customer is an example of competing on:  

a.
cost.
b.
differentiation.
c.
focus.
d.
both cost and differentiation.
Answer:
 b

Reference: p. 3


	
7.
	All of the following are characteristic of free agents, except they:

a.
are knowledge workers.

b.
are telecommuters.

c.
work as independent contractors.

d.
do not have control over their schedules.  

Answer:
 d

Reference: p. 4


	
8.
	Telecommuting is facilitated by all of the following except:
a.
free agents.
b.
mobile IT equipment.
c.
Internet connectivity.
d.
software to facility remote collaboration.
Answer:
 b

Reference: p. 4


	
9.
	Which of Nolan and McFarlan’s modes of dependency on IT is associated with a high need for reliable IT and a high need for new IT?  

a.
Support
b.
Factory
c.
Strategic
d.
Turnaround
Answer:
 c

Reference: p. 4


	
10.
	AirCo, a small airline, requires reliable IT for its continued operations, but generally does not utilize IT to compete in new ways and avoids investments in new IT. Which of Nolan and McFarlan’s modes of dependency on IT best characterizes AirCo?  

a.
Support

b.
Factory

c.
Strategic

d.
Turnaround

Answer:
 b

Reference: p. 4


	
11.
	A company that primarily relies upon technology for minor back office processing can be best categorized as which of Nolan and McFarlan’s modes of dependency on IT?
a.
Support

b.
Factory

c.
Strategic

d.
Turnaround

Answer:
 a

Reference: p. 4


	
12.
	Ross, Beath, and Goodhue (1996) argue that IT managers need to focus on three types of IT assets, which include all of the following except:  

a.
process assets.

b.
technology assets.

c.
relationship assets.

d.
human assets.

Answer:
 a

Reference: p. 8



	
13.
	IT leaders who establish partnering for joint IT-business decision making are managing the: 

a.
process asset.

b.
technology asset.

c.
relationship asset.

d.
human asset.

Answer: c
                Reference: p. 5


	
14.
	Keeping a company’s IT resources aligned with business goals is the primary responsibility of:
a.
virtual teams.
b.   the project sponsor.
c.   the CEO.

d.   the CIO.

Answer:
 d

Reference: p. 6


	
15.
	The CISO position is generally responsible for all of the following, except:
a.
validating the financial feasibility of IT investments.

b.   monitoring compliance with federal reporting requirements.

c.   ensure technology security policies are in place to protect data.

d.   plan appropriate investments to manage IT security risks.

Answer:
 a

Reference: p. 7



True/False Questions

	16.
	Web site design features are easily copied, making it more difficult for businesses to compete through differentiation via the Web.

Answer:
 True

Reference: p. 3



	17.
	Online travel sites such as Expedia, Travelocity, and Orbitz pressure airlines to compete on price and make differentiation difficult.

Answer:
 True

Reference: p. 3



	18.
	Managing the costs and vulnerabilities of the data centers and networks that provide access to business data and applications is the only critical IT management role.

Answer:
 False

Reference: p. 5



	19.
	Most IT jobs will be sent offshore in the next 10 years

Answer:
 False

Reference: p. 6



	20.
	By definition, the CIO is a direct report of the CEO.

Answer:
 False

Reference: p. 6




Fill-in the Blanks

	
21.
	Information technology is defined as computer hardware and software for processing and storing information, as well as communications technology for transmitting information. 


Reference: p. 1



	
22.
	The organizational unit or department that has the primary responsibility for managing IT is the information systems (IS)department.  


Reference: p. 4


	
23.
	The company responsible for much of today's de facto software standards throughout corporate America is Microsoft Corporation.  

Reference: p. 3



	
24.


	Software packages with integrated modules that pass common business transactions across groups, divisions, and national boundaries in “real time” are called enterprise systems.   

Reference: p. 3



	
25.


	A telecommuter is one who works from a location outside the company's regular offices and communicates via IT in order to do his or her work.

Reference: p. 4


	
26.
	An IT specialist working as independent contractors and without needed to be at any specific work location is now referred to as a(n) free agent.  

Reference: p. 4


	27.
	Ross, Beath, and Goodhue (1996) argue that IT managers need to focus on managing three types of assets.  Managing the technology asset required effective planning, building, and operating of a computer and communications infrastructure so that all employees have the right information available as needed anytime or anywhere.

Reference: p. 5



	28.
	According to Ross, Beath, and Goodhue (1996), a working climate in which IT managers and business managers share responsibility and risks, along with selected outside IT partners, is referred to as the relationship asset.  

Reference: p. 5



	29.
	Managing the human asset includes recruiting, developing, and retaining IT workers with specialized IT skills and business knowledge.

Reference: p.6



	30.
	The chief information officer (CIO) role began to emerge in the 1980's as the business leader responsible for managing the IT Assets.

Reference: p. 6




Essay Questions

	
31.
	Describe how Dell Corporation used IT to compete on cost, differentiation, or both.
Dell Computer Inc. used IT strategically, and grew to be the PC market leader by the end of the 1990s. The company developed software to electronically capture a customer request and then translated the order data into a design with these components, which in turn was used to electronically "summon the right resources" to fulfill this order. Dell saved money because this software enabled it to sell directly to customers via phone lines or mail order. This "made-to-order" business model also meant that Dell didn't need to spend money to manufacture and store products that no one might buy. The competed on cost because of their efficient supply chain and ordering systems that were facilitated by IT. Additionally, Mass customization has allowed Dell to make only the products it will sell.  The company then leveraged the Internet to become the first PC manufacturer to allow customers to directly place a customized order. This resulted in Dell needing fewer customer service representatives to take orders by phone and providing better service to the customer by increased customization. Dell used IT to compete on both cost and differentiation.
Reference: p. 3


	
32.
	Compare the benefits and drawbacks of virtual teams?
Virtual teams can leverage the specialized knowledge found in different parts of large organizations or even in different organizations. They are comprised of geographically dispersed members and connected through IT. Virtual teams can include global members who may not have been able to participate except through the use of IT. This type of work arrangement provides increased flexibility, but also has tradeoffs. Virtual teams must coordinate through the use of IT, which can be more difficult than face-to-face teams. 
Reference: p. 4


	
33.
	Compare the benefits of telecommuting versus traditional desk-bound office work.
The benefits for the telecommuter include avoiding commuting times and having the flexibility to find a better balance between work and home lives. For organizations, the benefits include lower costs for office real estate and lower clerical support costs, as well as the potential for greater worker productivity. In some cities, environmental laws have led to work schedules such as 4 days "in the office" and 1 day "out" working at home for some of those with knowledge worker jobs. Telecommuting also can mean workers have trouble "getting away" from work: pagers, cellular phones, and handhelds have become requisite pocket items. 

Reference: p. 4


	
34.     
	Describe the three types of IT assets that must be well managed since businesses have an increased dependence on IT.   
Technology Asset:  Managing a firm's technology asset requires planning, building, and operating a computer and communications infrastructure—or information "utility"—so that all employees have the right information available as needed, anytime/anywhere. For example, end-users of computer systems and software expect a network to be "up" and accurate data to be accessible in an easy-to-use form.  Today's organizations have become so dependent on IT that when information systems are unavailable, whole departments can't get their work done, and customers can't be fully supported.  

Relationship Asset:  The relationship asset has come to be recognized as critically important as we have evolved from the Accounting Era to today's Internet Era.  It is imperative for business managers to take on a greater decision-making role with respect to IT investments and to champion the development and implementation of appropriate IT applications.  However, business and IT managers have become even more dependent on each other as IT has become so pervasive in most organizations.  Achieving business value from IT investments requires the strong working partnership between IT managers and business managers.  This is what is referred to as the "relationship asset."  

Human Asset:  Managing the human asset of an IS organization is also critical if an organization wants to deliver, implement, and operate systems that enable an organization's strategy.  Managing IT specialists is in many ways similar to managing specialists in other functional areas, but there also are some special differences due to the high rate of change in the IT industry and the nature of IT work. Today's there is an emphasis on developing alliances with domestic and offshore vendors (outsourcing) to lower IT operational costs and to leverage time zone peak load differences.  Managing the "human asset" has taken on this added responsibility.

Reference: p. 5-6


	35.     
	In order for businesses to benefit from new IT solutions, today's business managers need to play key roles.  Describe some of those roles.  

· Serving on an advisory or oversight committee to prioritize and approve requests for large IT investments

· Becoming the business "sponsor" of an IT project

· Serving as a business process expert on a project team to develop requirements for custom applications or to select an appropriate software package

· Participate in planning and executing the rollout of a new IT application

Reference: p. 7


	36.     
	Nolan and McFarlan describe four modes of dependency on IT. Describe an organization’s dependence on IT in the Turnaround mode.

The Turnaround mode is characterized by a low need for reliable information technology and a high need for new information technology. It is most common for companies to be in this quadrant temporarily as they transition from an organization with low needs for reliable and new IT.

Reference: p. 10-11
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